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Section A (30 X 2 marks)

For each question * to 30, four options are given. One of the four

options is the correct answer, Select the corroct answer and shade its
corresponding oval (1, 2, 3 or 4) on the Optical Answer Sheet.

1. Which of the following about all non-lowering plants and fungs are
correct? - ‘ ‘
1 | Non-flowering plants Funal
A | Contain chlorophyil? Y ag No !
B | Carry out respiratioi? Ve Np N
C_ | Reproduce by spotes? | N Yes
| D | Feed on decaying matter? No_ Yes

(1) Aand D only
(2) BandConiy
(3Y A, Cand D only
(4) A, B CandD

The staternents below descrive a certain arcanism,

NI

It is & carnivore.
It lives in a pond.
1t breathes through breathing tubes.

‘Based on the description above, what can the reganism be?

—h

Dragonfly
Pondskater

Water stick insect
Great diving Beetle
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3, Study the clagafication "h:,” below carefully.
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S. The leaves of the plant “Muntingia calabura” is fmmcu edged znd has nat
veins, From the description given, which leaf below belonas to the
“Muntingia calabura” plant?

53 Use the table provided.to classify the aniimal.

PRy
wiy

A | Haslecs | GotaB }
Does not have legs [:igtﬂxv '
B. | 8ieqs orless fGoto b
more than § legs ) o T GotwE B
C. | Body with nv she f Go oD
) Body with 3 shelf _ — Mol BLM__ﬂ____j
D. | Body with rings L Arnelid
Bogy without rings ) gN:mcxwe o
E. {6egs _ { Tngect §
8 legs o ) _ A i i
: : N ‘ﬂ__““__ﬁn__4
F. Aﬂleqsaleoftwesun lenath P Myriapod i
Not ail legs are of the sama length i Crustacean

Which cfass does the animal belond to?

(1) Anneld
(2)  Arachnid
(3)  Myriapod
(4  Crustacean



Which i< the most wportant property ¥

mater{al to make & tond nole?

{1y Eastic
. 3 .
{2y atrong
& F’exxbie
(47

)

Srindy the food chain below carefully.

A5 B (D

3

consider whan choosing 2

Which of the followinig statements Is Gefinitely trug?

A
~

“)3

A ks a fond producer.
L is 3 herbhvoro,

s a e,

T 3em - o e
1S an OrTinvae,
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10, Study the flow chart b&uw careruity R
' : . [
Has mass and Yes | Hasadefinite 1 _Yes
ozcupies space? i shape? i _
. T '
l No | No
¥
2 - l ]‘,_._,. —— _I ]
Is a form of ves. E— ! “2n be P_vEs
energy? ‘ | compressed? |
L ,

lNo

A

|
J

Which of the Following matcnes the letters A, &,

Coand D?

WO

e ——— L

et —

’ A | B é c, D |
“ . o ! YL S :
(1) qravity sound P sand Mist i
(2) _wind J_E#L‘,_r\‘g@an piasticine ORygern
(3) |] héat magnetisim _sponge hyadrogen
(N1 shadow | petro! woter varour
11.  Rachel carried out an experiment Yo see huw the amount of carbon

dioxide affects the rate or photosynthesis. V
correctly shows her results it she had canied ¢

Vhich one of the {olowing

aust a fair test?

A
l‘ﬁ*%—mw\ e (H)
R
r/ \\_
Rate of \ = L
Photosynthesis _ e "3
\ 2 ) ’
-
a
7 \\
/)' -\ ;/—\\)
/ N eR
\ \
/ ~ )
/ ~__ B
S i - . S
0 Amount of carbon dio em

Y



12, Inowhich part of the digestive syster is digested food abgorbed into the
oinadstrean?

Y

e

Jod
2

The dizgram beinw chows the stages o growth of a plant,
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Whier do the processes of germination and rartifization take piace?
Germination Fertifization *
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B
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14,

15.

16.

Equal amounts of iced water are poured inta 4 similal cups. Zach cup is

made of a different material, The diagrams below show the termperature
f the water in the 1 cups after 10 minutes. Which cup s the most

suitable to keep the iced water cool for the longest period of time?

~
Al
w2 0

()

Which of the following graphs shows tha effect of increasad humidity on
the rate of evaporat jon?

» 1 (7) )

Q LU
) — i
« )
f a -
) o [y
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- 4 .
(3) o () 4 o
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Fe Ny 3 E N\
fod K 7 \
ju. p. i ; i\
b \-‘ i 'll \..
pra] = \
& . o L
QO \'\\ C ! / -(\
. ~. 2. i \
@ . T \
> . e v \
u N [ ‘;
> ‘.......,,u_“...._..aw__-v..-.w.._\.u.y._.
Rumiginy Humicey

Which of the following are not true of piadds that reproducs rram jaavas v

They bear fiiawers,

They grow on other plants fur support,

They have buds that grow at the adges of the leaves or at
the leat staix.

QR

1) Aonly
2) B only
3y Aand Conly
4)  Band Coniy



17.

18.

e R Aha I
(

The ciagram shows pact of an istand wheee twao types of plants { 4, B

are Qrowing.
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20.

21.

Gestation is the process Qf carrying & young unborn animal inside the mother's
body for a period of time before birth.

The table below shows the gestation period of imammals and the mass of

their young when it is born.

Animal TGestation (weeks! i Average mass ofa |
o _mewsborr h by (ig) J
Mouse s T Togs

Cat i 8 ; 1\26 "

Pig - 07 - i " = i
Fluman - 40 o B ‘
Horse | s )

Elephant 03 T 100 J—

What is the most likely gestation period of @ horse?

(1) 27 weeks
(2) 35 weeks
(3 49 weeks
{4) 100 weeks

Which’of the followina statements about forcas ara true?

A Gravitational foree can a“f rom a distance.

B Magnels exert & magnetic teree on magnetic oblects,

2w The we.fg.nt of an object oppe i» on the gravitational foree

h acting on i,

D An object ramains at a stationary position because no furees

-are acling on it.

Aand C only
B and D oniy
A, B and G only
A, B, Cand D

Lo

m— N N
%)
N e e

Which of the following is not an example of foices atwork in natura?

(1)  Voleanoes erupiing.

() Fireworks expleding i the sky.

(3) Windmills spinnaing in the wind.

(++) A waterfal! going over a mountain Glifl,



22.

2
8
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A goatkeeper punches g ball away in a soccel game, Which of the
following shows the effect of the force applied by the goatheapar ?

(1) Tha vali losey haat,

(2Y Tre well slows down.

{2) The ball sfops moving

{4} Tne balf chaonges direchion.

ows 8 bov using a rope o climb 3 hil,

SATL il X g i ~ -t Yen 1y I3
Whieh fwo forees halo fim to climb 7

(1) friction and gravity
{2} maconatic foroe and gravity
2y fiction and ths fores axerted by the rope

Three thumbtacks, 7, i and V are held orie do iron rod by some wax,
The metal rod is then heated up by placing a candle at the position
ndinated by an arrow 35 shown below.

Arrange the ordey o which the thumbtacks will drop, beginning with the

S SRRV S L R RS [epar
thierdhianx that wit orop frst

fron pod

t0



25.  Which one of the following simple machines has its fulcrum, ioad and
efforl arranged in the same order as that of o wheelbarrow 7

lLoad

L
Fulcrum

(1)

(ce cubes

1
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Study the four diggrams below. Each diagram shows an objest balanced
hw g we \ﬁ of MC'J on oalever,

Which of the objects befow has the sma ipelmass ?
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27. -Look atthe set-up below. The paper soiral began to spin scoa after the
circuit was connected.

paper spirai

LHONTO MY Wi

battery

Which of the following corcectly descrines the ensrgy changes ?

(1) chemical potential __,. heal « iight = kinetic
energy enercy erargy energy

(2)  chemica! potential . kineve , heat =+ ght
energy eneray BTGy energy

{3) chemical potential __.y. efectneat _ kinetic +~  heat
!

!
-
energy energy energy energy
(4y  chemical _.__, electrical __., heal + lignt ___ 5. Kinelic
potential erergy anargy energy energy
energy



Thie graptie ofganiser helow shows the conversion of electritity to-other

forrms of energy, W X, and Z, by some household electrica’ appiiances.

EClectrical energy

i5 converted by
. — N
H
!
{
§ :
Hlende iron tamp
TN " e
Pl B o
FoTree L j
Sl e N
P ¥ v v
Y X Y Z

Which of the followirg contpletes the above diagram’?

: o e g
Y : X | Y } z

e _ :, s |
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PN 4 . ) R :

(ty | kinetic sound heat fight :

! - !

.'"'7‘\ $ et (M 4 3 43 i~ Py ¥

2y Kinetis i potential - | fight heat . |

N ' | N : ) ! : N Q'

{3 : sound chemical | heat § dght _;
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4y | heat light i sound | Kinalc i
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29,

Study the classification table below,

\ Energy sourc

. e e
, N SR
A B '
1 b g}
- ik R '
| |
i |
T S st o :“"““_'. ,..__,___._1‘__-.“
_— ! - )N ; !
sun wina PG D
P ——— —-—-%._..,_.-' — ;
i coal | E natural gas
O e
Mateh the headings A, B, C and D with the cotrect words,
- - DT :
A 8 ; - g O
(1) natural aificiz] liguid | gas
_____ e e e ) -— -
(2) renewable non-renewabla sofid gas ;
; -
(3) wildiife from the ground liquid i Qas )
N §
‘: g
(4) repewabli non-renewab: solid liguid !

15



30, Michelle sets up so experiment to find out how much lightis affowead to

pass thy ‘.'~Uqh materiaia
the following onife soreen.
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Wihich of the following sats of properties i « mmt ym
apove matenals

X, Y and Z. Wher 3 tarch is shone, she observed

e BtTERD
g

matc he\J to the

Aliows raost fight to Does nat alow any

Allows some light to

] ' 1

; Matarial v Material =~ ;

i ! ]
. . : - — =
1 abows mostight to - Allows somig ightto | Does not allow any |
{ : i !

pass : thicugh ‘ pass "z,iuwr‘ tight to pase through |

5 ' i

: at sl i
o : S : . -
01 Allows some fghtto | Allows most gt to Jogs not aliow any
1 3
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|

‘
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e
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s
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Section B'(40 marks) - - o T .
Write your answers for question 31 to 46 in the spaces provided,

31, Study the diagrarns below carefully.

AUV
g Obmg:: | A

o

(3]

(b)  Explain tiow you identified the phant ceil, 121
32, Study the diagram of the water cycle shawri below carefully. HER

Fill in with the letters A, B, Cand D dericd
cycle. Each letter can only be used once.

(@)  Chanage from liquid state to gaseous state :

(b)Y  Change from gaseous state Lo lquid state

(¢ NO change in state



Shéryh racorded (e pumber

commuily.

Orgamgmg she -observed 1 2 pm“d

;r—-m-' Of’gd’ﬂ Nuﬂber %
{ A 5
e 5 B 10 ;
! Ao 20 z
=’ o | R _
The sma ’;,? peputistion was an nsect i s;pentig part. of its lifecydle in
water, 11 s found af toe betfom of t‘*e 1. The largest poruiation was @
fully =ubmerged plani. There were more water naq than tadpoies,
Tdentty the oroanisms Som the information given (2]
T omenism b Name of organism i
; ’ !
1 L A = e a) —i
i |
?.., ——
b - e :
34, The dizgram below ghowe L?‘e 4 stages 1 the fife oycle of an organism,
r 3
! !
“ T Aadpie - H
2o GRS g -
TS e Y
P o CTTTSN
- ' \\
.
© < Ty ‘"i ¢ N !
| } %
!
R e. i ]
N\ o
5 wesks \’?\ é‘ T /" 7 1D days
'! - pal i:—'f‘ ag e — -.\? i - fart
maou s DRSS 'i I ~
i S
3} Fi in the boxas with the approgriaie stages in the life cycie of the
oraanism 2]
i) At which stane of the life cydle of the organism can It reproduce?
' (1

e

[oled



35.

Read the following carefully,

A : The iungs expand.

B @ The air goes into the lungs.

C 1 Air goes through the nose,

D : The air goss into the windpipe.

E . Hairsin the nose tap Just and dirt present in tha air

Arrange them in the mrrect order to descrnbe what happears during
physical breathing. The first one has been dane fur you. 12]

_______ e nmim el 8
N e N

Foxes, rabbits, cats and sheep are animaf kuems mtroduced nto Australia
by humans. These introduced species can anc uer native animais. They
are either predators or animiais that compate with native animals for food,

. | sheep Ty el N
o G T o
jr.w..._um.;_.._ - T z SISISHSES I
1 foxes / : - T ' T
i » 1 -~
l //
- s
f i .v'j ?"" S s/ ;
= | Plants g - + ey | TEDDIS
[ insects ‘ Ve 1
—— £ |
|
\ Y, |
N |
hY
- v V
¥ D NSO e

" fomasllee fowls e ~ats ’
echidnas poeT e ” Lu:jw_;

- Study the food web above carefully to answer fhe qguestions helow.

a)  Which introduced animals compete with the mallee fow! for food

2
i
) Which introdCeed animals are predatoss o7 the mallea fowl? r

]



Study the food web helow carefully.

—— ,_i »
filatia . w,
RN

/’/;
> .A'\
‘}5.,‘ : , \\\\
PR o . ! ~
e e agonf v ivmbh )

- ! : T
N e mdpole |
ooguppy v ! ]
b : ‘4'\\' T ‘“_““’ » T T
T Sl | water plant o

T~ N IO | -

N T !
] ] '
I water sterpioi ‘}
L_W_h_,_._A__...,._.,._k...
{a)  1fall ih» water plants were removed, what would be the immediate
effect o tne food web? -' ‘

ARy Which ponuiation(s) wauld be the e f‘c to f«;ei the effect? 11
tat ble with the hisiping words given 13
L o Helping Words ,
: 1
i Yosd Whale Eagle Cat {
S . |
. R .
. . One at & imoe Aore t‘wan one at a Gime i
;
Lay &ggs i
|
s Cive heth to vewng !
| aive ; §

PN



39. Magnet A is hung from a spring as shown in Diagram 1.
Magnet B is then placed on the ground, direclly below Magnet A
in Diagram 2

as shown

\a;-*'z.{.:zz;{amazf LRSI AR

oy 5

soring b on woringg e E‘

| o E =0

ﬂj -(*-E

5 . Magnel ; ;

\f |_u9| ‘:r- | ; e
L

L]

Mogret | |

oigaEate i grouns
Diagpran 1 Digream 2

Exp!am why the'sp
Diagram 2. - _ 143,

40. John made a jumping foy using two dienas of plastic cards and 2
rubber band. He stretchad the rubber ba; «-'s and released the wy. The toy
snapped and jumped up 1o a certal haight, which Johin madasured and

recorded in the table below.

; - ! Height jumped in {em)
Number of '; L . ) ‘ var
rubber bands used | Ty 27ty Heignt
1 10 iR 12 11
1 A T SN N T W
: 3 [ 30 | 28 29

L L

o R

(2)  Whatis the relationship-between: tha number of cubber bands used
and the average height? 12,

(b)Y  Why must John repeat the activity .

tJ

S SV SN T 4 P : 745
and naiculate the average of the

heights jumped 7 \ i1

[T



1. St:—z the main energy changes when a battery is used to run a fan as
shuown i the diagram 'w OW. SN {3
[J‘ |
Pz IC‘-} '
we i | baltery
Lt
b ]

i '

ey |

i . _LoEnergy i

[ e e H

n the battery
e . . .
; |
i ) enerqgy |
— — i g
in the circeit
] '
; R
; energy |
of the far
2. Gezr Als connacaed o gear B and gesr U as shown below.

AN

{8y GeazrA twmsinan anb CIOC*(W  direction. Indicata i the
diggram above, the direction gears 1 ard C turn. [1]
&) ne number of e as Gear A

~emplete rounds, kow many rounds wili Gear B
43
1




43,  Jason wanted to find out how the mass of gn oblect affects the extension

of a rubber band. He used similar rubber bands in the toilowing
expenment.

CMm

~

s st b

[4]
‘j D I P e e e e g

45g |

' A v ST CQ N SO N D S SV MR
| &=

14 S U VU VDN RUPUI S JURUPE U -—

(&) Basad on the,above set-up, what i mass of ohject C7

e

(b)  Whatis the original length of the ruober bands?

[
I xs



44, Thediagram

below shows a pulley systerm cansisting of a8 fixed puliey and
a rovable pulley.

Commplele the disgram by drawing i the sifing that tonneet the two

nulleys 30 ag o lift the Joad. | [

3
-~

(b State two savariagss in using this puliey system, ‘ {21

{4y . e .

L i e e v e b . e
s et 1 e A S 5 e -

30

AR SN St NPT e B o ian i maa e fram ———




45, Substance X was heated over a flame for 4 pedod of fime and 1eit to cooi.
The graph below shows the change in temperature of substance X.
Usa the information in the graph to answer the following questions,

Change in temperature of substance X

£0 A e S e —— 1
{

IV O O S

. . D ! i =
70 i T : A :
d — H 1_.;/ _____ N \_\S_i_
| :__-,__,__ Z‘ I_,.,
S

! !
' A
- [ I - o s 3
Temparature : ) for

(*C) 3 L b

T -

T~

10 IRV
RN

Y 3

a i

i A i

A A A { (A ) Efy

-10 - .___._i__.._.._i_..._-.?___,_v .
4 ! 1!
j L

> |

a)  Atwhich/point was the source of heat rainoved from substance X ? Y
’ L d

(b)  What wasthe room temperature ? i
() tdentify the progess at BC, 13
{d)  ldentify the dtate of substence X at &5, £
A ) e i




46. The fiow charl balow shows what happens o the refuse

that is taken to

Senoks incineration Plant,

H

i

PT eks empty refuse i
, bunker.

|

- - oy -
| IN(‘!NFRAWW ?
[ [
i Retuse is bnt. }
..—“/”/l\\\"\_
e - \N\\
e - - .\‘\."\
s o o S AJ.’.I‘ aan Wl l e iy e I b3
BO{LER L NAGNETIC‘ BP" T A?H UNK!—.R
H $" T e ~ —""
§ 1 H
...... UV B » . [ o i
Heat from tha ; [ Ironis removed from : Agh iz buried in the
burning rafuse 1 | _theash. 4 gumping ground.
(:T'f;anmc vntpz inte \

i = S At e dang

rNFRA’?OF

B :
IRON ﬁ!ﬁNKhR

Q fean sh N8 (]Cl’t“ “}’ T ZJ

Trucke empty refuse nio

b o )ty e i

L;Ul}Ea.Qﬂ
proguce electriciny for use
in the mcineralion plant and
hames.
(s} Based on the flow chart, state une advantage of digposing refose
through buining: 0
by Siate one disadvantage of usiag vefusé as an energy source. 1]
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Ny
~1
p—4

2) 3 28) 1

3) 2 29)

b2

8%}

&) 2 ‘ 30)

5) 1 31) a) R

6) 3 b)Y Tt has a cell wall, chiloveplascs and s lav
vacuolae,

7y 2
32y a) ©
8) 1
b)Y A
9) 1
c) 2, C
10}

I~

33) dragonfly, nvmph
11) 1

tadpoles

water fleag

o~

1237 _
13) 4 hydrilla
34) a) adult
pupa
tarva
by Adult stage
35) C E D 2

36) a) Rablits and shesn

t‘) Cats 0L fOXeS

b
O
g
€N

37) a) Tadpole and guppy copuiation would fFall,

[N]
—
NS
I3V

b) Tilapie
22) 4
3R) Fagle Toad

N
%]
(U%)

Whale CAt

39) Magret A's south pole wizght have been facing
tagnet B'e south pole or wvaice versa and since

like poles repel, Magpnotic & was pushed up o3

a magnetic force.
26) 3 ragnet

™S
A
s
[ %]
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